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Choosing the operation
R pmbail = ool - W B P B i s b e i B e T

s il 2% = &7 A == W= QT o = L &

Lrds el ® oid - b Tk b PRl Feac b [ T E

a% ig= N an i = ia L1 | 19 = =
|| 10 = &2 (o i = 1% el i = K
i 1= 13 o4 1E = dal L i1 =m
L] ol = mF = 18 =45 =l 1IN =

ray mibeamr v o e oo e ke e by e g ey

irmd imd = 17wl R 1 = (B8

o (BEE R R il ms Fonl B S
= P o, = Tk s ifgrm = dhom
&= Bl = . o B = T
Jio= Mg = A g = e Wl =
e Iy e = T =t T

s i amewen e B

| i @l 10 oy i s el i e it b Bl B e |
o G ke Hlew e By ek = g W e sk
e abllad on sl = | H R 1.
|-.ﬂ-l-ul-hll:-ur- L R e - .
| bnemd® g e il B S o ) R L ) R

I ey pummn By iy e el o = e

| k== o il

N Peliebeey 155w ILBE



